SplashlLearn

Halloween Subtraction

Solve the following word problems.

Jack bought 2.45 pounds of candy for halloween.
He gave 1.25 pounds of candy to his friends. How
much candy does Jack have left?

Sally spent $1.75 on halloween candy. How much
money does she have left if she had $10.00 to
begin with?

A halloween party had 15.75 liters of punch. After
the party, there were 7.85 liters left. How much
punch was consumed during the party?

Tom bought a 3.25 pound pumpkin for halloween.
After carving the pumpkin, it weighed 1.75 pounds.
How much of the pumpkin was carved?

A haunted house attraction takes 2.50 hours to
complete. If you spent 1.25 hours in the attraction,
how much time do you have left to finish it?

A halloween store had 12.50 pounds of candy. After
a day of sales, they had 9.75 pounds left. How
much candy did they sell?

A halloween craft cost $5.50. If you paid with a
$20.00 bill, how much change will you get back?

8 A halloween party had 20.00 liters of apple cider.
After the party, there were 15.25 liters left. How
4 ) much apple cider was consumed during the party?
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